Lezione 2

DISEQUAZIONI IRRAZIONALI:

1
Dxl+x+1<4 5 2)2x+l=sx-3 ; 3)2x-3<Jx-1; 4 " <0 ;

4x2+25<
3x+5 2x x+1-+/x x-AxP—x+1
5) ———>2 ; 6 3 7)—F——>0 8 <0
)«/4x— —3> ) x2—1> ) 3-+/x g )\/x2—2x—x+3<
9)\/x2—3x—285\/x2+x—6 ;0 10)4/3x+5< Sx+1 ; 11)M20
V3x-5 2x +1-+4x
EQUAZIONI E DISEQUAZIONI in cui compare la funzione MODULO:
12) 2x-1=|x+3 ; 13)x*-2p+1=0 ;  14) x* +2}x{+1=0 ;
15) [x|-x>2 ; 16) px—|x =3 <1 5 17 ¥*=2pf+150 ;
18) -2 <1 ; 19)%& ; 20) |- |x* +x 42| <4 ;
X =X
21) [x =3z x+1 ; 22) —%|—2x—6|<0 23 x-|t-l> -0

24) Vax® -1 =1-|x
27) [ -2x<2p]-3 ; 28),/10-6x-2[<3-|x-7

; 25) 1=[2cosy=+3,x€[0,2n] ; 26) \[2x’ +3x+1>-xv2

RISULTATI:
1 _1_2\/a<x<_1+2\/a; D x=4+242 5 3)1sx<2; 4 0; 5 x>52; 6)1<x<%;

Hx<3; 8x=0; 9-112=sx=-40x>27;, 10)x>5/3 ; 11)-8=x=<-6 0x =>2;
12)S={-2/3;4}; 13)S={-1;1}; 14S=0; 15x<-1;

16) —1+v/3 <x<—-1+/5vi+3<x<l++/5; 17Vx#x1; 18)/2=x<3: 19 @ ;

20) =2 <x <2 : 21)x=1: 22)Vx#-3; 23) 0<x<2 ; 24)xsl_3ﬁ oxz_l";ﬁ;
T T 2 5 7 4 5 11
2) SYST o STSXS T 0 TSNS T 0 TSNS T 26 x>-13 ) 3=x=3 ;

28)13 =x <1 03 =x =11/3.



